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[image: ]ABCD is a square. Find t in degrees.
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a) 
b) 
c) 
d)  
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(Camis making a ary hat. show atf n th shape of  conefor i
Bithaay.The crcunerence of the port of s eod whereth hat il rest
1536 centimeters (cm). e heght o the hat s 25, which fthe.
Tolowing I closest o the volume of Com' et measured i cublc
contmerers (em?)?
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Two footbal playersar ocated o pints A and B inarectangulr
footballfekd 03 shown at ket Point A s located 50 yards (yd) trom the.
west acge s 25 yd rom e south ecge: ot B s ocared 12

o the east ecge g 0.d frthe souh edge. ina s the distnce.
i yarcs,between the two playes? (Round your answer 10 he nearest
tenih ofayore)
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4ft

Note: igure not crawn toscale
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‘The figure at left has a vertical line of symmetry in the middle. Half the
length ofthe base s 4 feet (ft). Angle BOAis 30° and line segment
‘BAis 6inches inlength. Given that 3 ~ 1.73, approsimately how tall
is the figure in inches, to the nearest inch?
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Whtis e messue i degrees of £ BAC in e fiure shown atle?
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s ghen natin(27°) & 0.45,cos(27) = 0.89,0n0
tan(2T") = 0511 h st it LCDA s LCBA vt
snges,CD & pwote o A5, CB 1 psttto DA Gven atne
angict AD 7 snd e v f ZDAC 5 27wkt na
enoing s cosest o o1 A7
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The sector of a circle shown to the left has s center at point O. The
arc XY'Z has length 10.8, and the central angle XOZ has measure
1.8 radians. Whatis the radius length, 7, of the sector?
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Due to weather, a barge captain decides to reach her destination in two legs: one due north and
one due west. On a direct route, her destination is about 1,830 miles (mi) away; see the figure
above. If after traveling 605 mi due north the captain determines it is time to head due west,
how many more miles are left in the trip? (Round the answer to the nearest mile.)
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destination

605 mi
1830 mi

starting point
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Itis given that sin(70”) ~ 0.94, cos(70°) ~ 0.34, and
tan(70°) ~ 2.7.In the figure at left, ZABC and ZBC'D are right
angles. Which of the following is closest to the length of AB?
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60°
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In the figure above, MQ and NR intersect at
point P, NP = QP, and MP = PR. What is the
measure, in degrees, of ZQMR ? (Disregard the

degree symbol when gridding your answer.)
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In the figure above, what is the value of x ?
A) 45
B) 90
C) 100
D) 105
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Point C is the center of the circle above. What
fraction of the area of the circle is the area of the
shaded region?
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B > c

Note: Figure not drawn to scale.

Triangle ABC above is isosceles with AB = AC and
BC = 48. The ratio of DE to DF is 5: 7. Whatis
the length of DC ?

A) 12

B) 20

C) 24

D) 28




